SRR EES )
107 &5+ 8 3> £ 250 P FHAE

L2

#Ho O BEas
SRHABL T B EETE ¢
(B ARG (LR E ) > &8 10 43 > 551 100 57 ©

(2) {EEHFRE 90 734 (43 :30~5:00)-
) FFEEREEFEAN - SRR T -

(1) BEFEWHES: > EAFRAEERE  BFEITEH LR TE -

2ax+b

1. &ta - b REE - HeE f (X )— E’ijtﬁﬁ% B/IMER -1 Al

b= () -
sl VN Afs— H-3X 1 -X —(X+ s =] —
2. B XGREAREA 2T +Z£2 +470D o FIxpEIERE (Z) -

3. ApfEZCRE > =BEA2,k,3) ~ B(k,1,4) ~ C(3,3,0) B H 2x+ y = 0 AYFLELEL
SRVE A~ B~ C e A~ B~ C'=BEELR S Hlk=_ (Z) -

4, EHI(X,Y) WEMEETFEE - 4x°+y* —8x—4y+4=0 > HJ 6x+5y+1
AR RE R (PU) -

5. ELAIEH[EIC X2 + y? — 2x— 2y +1= O ML E 4R L 4P RI5E Xl - y #fiis A ~ B
WEL - 750 kL > OA=a ~ OB=b » Ha ~ b#A2 » H
(a-2)(b-2)=_(F) -




6. i - B ABGHEEE] D B AR ar A - H A RERAEEE - S A B
o A C R > RIFEATRERYRS IS (X)) f% -

M

ve]

A

7. FHEL ~ HEAYAIE 6 HA TS JeL Ok EHIREE AN
AP e R TN 2 N =1,2,3,4,5,6 - [i] i HIR R KR EUE
SHUBER R (1) -

8. X+ X+ X"+ X" + X" +1= Oy S AR BT _L P FEAVRE Ry BT
[V VAN

9. H T HHEIC: G— 17+ (- D2 + /(=57 + (v — )7 = 63t
£ H T A9SEIDRIELAEIE C VISR - ARG ISER - T oy
AB_(0) -

10. #tan o Bl tan B 55 3x% —7x+1=0HYfifR » Al

sin’(a + B)—-2sin(a + B)cos(a + B)—3cos*(a+ B)=_ (1) -



